
Oxidation Numbers     

Determine the oxidation number of the underlined element.  (Answers on back.)

1)  NH4
+ 2)  MnO2

3)  (NH4)2SO3 4)  HPO4
2-

5)  H3PO4 6)  NH4BrO 

7)  SO3
2- 8)  NaHSO4

9)  Co3(PO4)2 10)  MnO4
-

11)  PO3
3- 12)  ClO4

-

13)  ClO3
- 14)  ClO2

-

15)  ClO- 16)  Cl2O

17)  SO4
2- 18)  SF4

19)  S2O3
2- 20)  C2H3O2

-

21)  CO3
2- 22)  CH4



1)  NH4
+ 2)  MnO2

XN + 4(+1) = +1      XMn + 2(-2) = 0
XN = -3                XMn = +4

3)  (NH4)2SO3  (treat NH4
+ as a unit) 4)  HPO4

2-

2(+1) + XS + 3(-2) = 0      1(+1) + XP + 4(-2) = -2
XS = +4               XP = +5

5)  H3PO4 6)  NH4BrO  (treat NH4
+ as a unit)

3(+1) + XP + 4(-2) = 0      1(+1) + XBr + 1(-2) = 0
XP = +5              XBr = +1

7)  SO3
2- 8)  NaHSO4

XS + 3(-2) = -2      1(+1) + 1(+1) + XS + 4(-2) = 0
XS = +4               XS = +6

9)  Co3(PO4)2  (treat PO4
3- as a unit) 10)  MnO4

-

3XCo + 2(-3) = 0        XMn + 4(-2) = -1
3XCo = +6 ; XCo = +2               XMn = +7

11)  PO3
3- 12)  ClO4

-

XP + 3(-2) = -3        XCl + 4(-2) = -1
XP = +3                XCl = +7

13)  ClO3
- 14)  ClO2

-

XCl + 3(-2) = -1        XCl + 2(-2) = -1
XCl = +5               XCl = +3

15)  ClO- 16)  Cl2O

XCl + 1(-2) = -1        2XCl + 1(-2) = 0
XCl = +1                 2XCl = +2 ;    XCl = +1

17)  SO4
2- 18)  SF4

XS + 4(-2) = -2        XS + 4(-1) = 0
XS = +6               XS = +4

19)  S2O3
2- 20)  C2H3O2

-

2XS + 3(-2) = -2        2XC + 3(+1) + 2(-2) = -1
2XS = +4 ; XS = +2                 2XC = 0 ;      XC = 0

21)  CO3
2- 22)  CH4

XC + 3(-2) = -2        XC + 4(+1) = 0
XC = +4               XC = -4


